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1. Rickets disease is caused due to deficiency of

Ans: Vitamin D
1. Œfl¬±Ú øˆ¬È¬±ø˜ÀÚı˛ ’ˆ¬±ıÊøÚÓ¬ fl¬±ı˛ÀÌ øı˛Àfl¬È¬ Œı˛±·

˝ ˛̊∑
Ans: øˆ¬È¬±ø˜Ú-D

2. Which one of the following is an example
of chemical change?
Ans: Burning of paper

2. ÚœÀ‰¬ı̨ Œfl¬±ÚøÈ¬ ¤fl¬øÈ¬ ı̨±¸±˚̨øÚfl¬ ¬Ûøı̨ıÓ«¬ÀÚı̨ Î¬◊±˝ı̨Ì∑

Ans: fl¬±·ÀÊı˛ ˝Ú

3. The battle of Plassey was fought in

Ans: 1757
3. ¬Û˘±ø˙ı˛ ˚≈X¬ fl¬Ó¬ ¸±À˘ ˝À˚˛øÂ˘∑

Ans: 1757

4. The treaty of Srirangapatnam was signed
between Tipu Sultan and

Ans: Cornwalis

4. |œı˛º¬ÛMÚÀ˜ı˛ ¸øg¬ øÈ¬¬Û≈ ¸≈˘Ó¬±Ú › fl¬±ı˛ ˜ÀÒ…
¶§±é¬øı˛Ó¬ ˝À˚˛øÂ˘∑
Ans: fl¬Ú«›˚˛±ø˘¸

5. Toder Mal was associated with
Ans: Finance

5. ¬ŒÈ¬±Î¬ı˛˜˘ fl¬œÀ¸ı˛ ¸Àº ≈̊Mê øÂÀ˘Ú∑

Ans: ’Ô«ÚœøÓ¬
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6. Two of the Mughal emperors wrote their
own memoirs. They were
Ans: Babur and Jahangir

6. Œ˚ ≈ÊÚ Œ˜±·˘ ̧ •⁄±È¬ ’±RÊœıÚœ ø˘À‡øÂÀ˘Ú, Ó¬“±ı˛±
˝À˘Ú

Ans: ı±ıı˛ › Ê±˝±ºœı˛

7. The term ‘Yavanpriya’ mentioned in ancient
Sanskrit texts denoted
Ans: Pepper

7. √õ∂±‰¬œÚ ¸—¶®‘Ó¬ ·ËÀLö ë˚ıÚø√õ∂˚˛í ı˘ÀÓ¬ øÚÀ•ß±Mê
Œfl¬±ÚøÈ¬Àfl¬ Œı±Á¬±ÀÚ± ˝Ó¬∑

Ans: Œ·±˘˜øı˛‰¬

8. The title given by British Government to
Mahatma Gandhi which he surrendered during the
non-cooperation movement was
Ans: Kaiser-e-hind

8. ˝◊—Àı˛Ê ̧ ı˛fl¬±ı˛ fl¬Ó‘¬«fl¬ √õ∂M Œ˚ Î¬◊¬Û±øÒøÈ¬ ̃ ˝±R± ·±g¬œ
’¸˝À˚±· ’±Àj±˘ÀÚı˛ ¸˜˚˛ ıÊ«Ú fl¬Àı˛Ú Œ¸øÈ¬ ˝˘

Ans: fl¬±˝◊Ê±ı˛-¤-ø˝j

9. India has lunched which operation to bring
back its nationals from Ukraine?
Ans: Operation Ganga

9. ˆ¬±ı˛Ó¬ ̧ ı˛fl¬±ı˛ ̋ ◊Î¬◊ÀSêÚ ŒÔÀfl¬ ̂ ¬±ı˛Ó¬ı±¸œÀı˛ øÙ¬øı˛À ˛̊
’±Ú±ı˛ ÊÚ… Œ˚ ’¬Û±Àı˛˙ÚøÈ¬ ‰¬±˘±ÀBÂÚ, Ó¬±ı˛ Ú±˜ ˝˘

Ans: ’¬Û±Àı˛˙Ú ·º±

10. Which Union Ministry implements the
‘Pradhan Mantri Gram Sadak Yojana’ scheme?
Ans: Ministry of Rural Development

10. ¬Œfl¬±Ú Œfl¬fœ˚˛ ˜Lafl¬ ë√õ∂Ò±Ú˜Laœ ·Ë±˜ ¸h¬fl¬ Œ˚±ÊÚ±í
√õ∂fl¬äøÈ¬ ı±ô¶∏ı±ø˚˛Ó¬ fl¬Àı˛Ú∑

Ans: ·Ë±À˜±iß˚˛Ú ˜Lafl¬
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11. India’s national carrier, Air India, has been
officially handed over to
Ans: The Tata Group

11. ˆ¬±ı˛ÀÓ¬ı˛ Ê±Ó¬œ˚˛ øı˜±Ú¸—¶ö±, ¤˚˛±ı˛ ˝◊ø`¬˚˛±
¸ı˛fl¬±øı˛ˆ¬±Àı fl¬±Àfl¬ ˝ô¶∏±ôL√ı˛ fl¬ı˛± ˝À˚˛ÀÂ∑
Ans: È¬±È¬± ·Ën¬Û

12. Kala Ramchandran has been appointed as
first women Police Commissioner of which city?
Ans: Gurugram

12. fl¬±˘± ı˛±˜‰¬fÚ Œfl¬±Ú ˙˝Àı˛ı˛ √õ∂Ô˜ ˜ø˝˘± ¬Û≈ø˘˙
fl¬ø˜˙Ú±ı˛ ı˛+À¬Û øÚ ≈̊Mê ˝À˚˛ÀÂÚ∑

Ans: &è·Ë±˜

13. Railway Staff College is located at
Ans: Vadodara

13. Œı˛˘›À˚˛ à¬±Ù¬ fl¬À˘Ê Œfl¬±Ô±˚˛ ’ıø¶öÓ¬∑

Ans: ˆ¬À±ı˛±

14. Which city is known as ‘Electronic city of
India’?
Ans: Bengaluru

14. Œfl¬±Ú ̇ ˝ı̨ ëˆ¬±ı̨ÀÓ¬ı̨ ̋ ◊À˘fl¬È¬™øÚfl¬ ̇ ˝ı̨í Ú±À˜ ¬Ûøı̨ø‰¬Ó¬∑

Ans: Œıº±˘≈è

15. Which scientist among the names given
below is associated with the discovery of the
radioactive element ‘Radium’?

Ans: Marie Curie

15. ¬ŒÓ¬Êø¶ç¬˚˛ ëŒı˛øÎ¬˚˛±˜í ’±øı©®±Àı˛ øÚÀ•ß±Mê Œfl¬±Ú
Δı:±øÚÀfl¬ı˛ Ú±˜ ≈̊Mê øÂ˘∑

Ans: Œ˜ı˛œ fl≈¬ı˛œ
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16. Full form of RNA is

Ans: Ribonucleic Acid
16. RNA-ı˛ ¸•Û”Ì« ı˛+¬ÛøÈ¬ fl¬œ∑

Ans: ı˛±˝◊Àı±øÚÎ¬◊øflv¬fl¬ ’…±ø¸Î¬

17. The lines joining places with equal rainfall
are called
Ans: Isohyets

17. ¤fl¬øÈ¬ ˜±Úø‰¬ÀS Œ˚ Œı˛‡±ı˛ Z±ı˛± ¸˜±Ú ı‘ø©Ü¬Û±Ó¬
¸˜øi§Ó¬ ¶ö±Ú&ø˘Àfl¬ øÚÀ«˙ fl¬ı˛± ˝˚˛, Ó¬±ı˛ Ú±˜ fl¬œ∑
Ans: ’± ◊̋À¸±˝±À˚˛È¬

18. The largest country of the world by
geographical area is
Ans: Russia

18. ’±˚˛Ó¬ÀÚı˛ øÚøı˛À‡ ¬Û‘øÔıœı˛ ı‘˝M˜ Œ˙øÈ¬ ˝˘

Ans: ı˛±ø˙˚˛±

19. Who is the present speaker of Lok Sabha?
Ans: Om Birla

19. Œ˘±fl¬¸ˆ¬±ı˛ ıÓ«¬˜±Ú ¶Ûœfl¬±ı˛ Œfl¬∑

Ans: ›˜ øıh¬˘±

20. B. C. Roy award is given in the field of
Ans: Medicine

20. øı. ø¸. ı˛±˚˛ ¬Û≈ı˛¶®±ı˛ Œfl¬±Ú øıˆ¬±À· Œ›˚˛± ˝˚˛∑

Ans: ø‰¬øfl¬»¸±˙±¶a
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21. The famous painting named ‘Damayanti’ is
creation of which famous painter?
Ans: Raja Ravi Barma

21. ë˜˚˛ôL√œí ˙œ¯∏«fl¬ ø‰¬SøÈ¬ Œfl¬±Ú øı‡…±Ó¬ ø˙äœı˛ ¸‘ø©Ü∑

Ans: ı˛±Ê± ı˛øı ı˜«±

22. The most arid place on the earth is situated
in which Continent?
Ans: South America

22. ¬Û‘øÔıœı˛ q©®Ó¬˜ ¶ö±ÚøÈ¬ Œfl¬±Ú ˜˝±ÀÀ˙ ’ıø¶öÓ¬∑

Ans: øé¬Ì ’±À˜øı˛fl¬±

23. Who is the director of famous movie
‘Rashoman’?
Ans: Akira Kurosawa

23. øı‡…±Ó¬ ‰¬˘øB‰¬S ëı˛À¸±˜Úí-¤ı˛ ¬Ûøı˛‰¬±˘fl¬ Œfl¬∑

Ans: ’±øfl¬ı˛± fl≈¬Àı˛±˙±›˚˛±

24. Anirban Lahiri is associated with which
sports?
Ans: Golf

24. ’øÚı«±Ì ˘±ø˝h¬œ Œfl¬±Ú Œ‡˘±ı˛ ¸Àº ≈̊Mê∑

Ans: ·˘Ùƒ¬

25. Famous dance form ‘Salsa’ has been
originated in which country?
Ans: Cuba

25. øı‡…±Ó¬ Ú‘Ó¬…Õ˙˘œ ë¸±˘¸±íı˛ Î¬◊æı Œfl¬±Ú ŒÀ˙∑

Ans: øfl¬Î¬◊ı±
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26. Which of the following Emperor was known
as ‘Kunik’?
Ans: Ajatasatru

26. øÚ•ßø˘ø‡Ó¬ Œfl¬±Ú ̧ •⁄±È¬ ëfl≈¬øÚfl¬í Ú±À˜ ¬Ûøı˛ø‰¬Ó¬ øÂÀ˘Ú∑

Ans: ’Ê±Ó¬˙Sn

27. Who was the most eminent ruler of
Satvahana dynasty?

Ans: Goutomi Putra Satkorni

27. ¸±Ó¬ı±˝Ú ı—À˙ı˛ Œ|á¬ ¸•⁄±È¬ Œfl¬ øÂÀ˘Ú∑

Ans: Œ·ÃÓ¬˜œ¬Û≈S ¸±Ó¬fl¬Ìœ«

28. Who is the inventor of Barometer?

Ans: Torricelli
28. ı…±Àı˛±ø˜È¬±ı˛-¤ı˛ ’±øı©®Ó«¬± Œfl¬∑

Ans: È¬øı˛À¸˘œ

29. In which year Indian Citizenship Act was
passed?
Ans: 1955

29. fl¬Ó¬ ¸±À˘ ˆ¬±ı˛Ó¬œ˚˛ Ú±·øı˛fl¬Q ’±˝◊Ú ¬Û±¸ ˝˚˛∑

Ans: 1955

30. Which hormone controls the tropic
movement in plants?
Ans: Auxin

30. ¬Î¬◊øæÀÀ˝ È¬™ø¬Ûfl¬ ‰¬˘Ú øÚ˚˛LaÌfl¬±ı˛œ ̋ ı˛À˜±ÚøÈ¬ı˛ Ú±˜
fl¬œ∑

Ans: ’ø'Ú
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31. Who is the author of ‘The Republic’?
Ans: Plato

31. ë… øı˛¬Û±ıø˘fl¬í ·ËÀLöı˛ ı˛‰¬ø˚˛Ó¬± Œfl¬∑

Ans: Œõ≠ÀÈ¬±

32. What is the name of the sulphur naturally
found in nature?
Ans: Brimstone

32. √õ∂fl‘¬øÓ¬ÀÓ¬ ̃ ≈Mê ’ı¶ö±˚˛ √õ∂±l ̧ ±˘Ù¬±ı˛Àfl¬ fl¬œ ı˘± ̋ ˚˛∑

Ans: øıË˜Àà¬±Ú

33. What is the unit of electromotive force of a
cell?

Ans: Volt

33. Œfl¬±À¯∏ı˛ Ó¬øh¬»‰¬±˘fl¬ ıÀ˘ı˛ ¤fl¬fl¬ fl¬œ∑

Ans: Œˆ¬±å¬

34. Which is the longest river of Asia?

Ans: Yantze Kiang
34. ¤ø˙˚˛±ı˛ œ‚«Ó¬˜ Úœı˛ Ú±˜ fl¬œ∑

Ans: ˝◊˚˛±— ø¸øfl¬˚˛±—

35. Caracas is the capital of which country?
Ans: Venezuela

35. fl¬…±ı˛±fl¬±¸ Œfl¬±Ú Œ˙øÈ¬ı˛ ı˛±ÊÒ±Úœ∑
Ans: Œˆ¬ÀÚÊ≈À˚˛˘±
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36. Which country is regarded as ‘Land of
Midnight Sun’?
Ans: Norway

36. ëøÚ˙œÔ ¸”À˚«ı˛ Œ˙í (Land of Midnight Sun)
Œfl¬±Ú Œ˙øÈ¬Àfl¬ ı˘± ˝˚˛∑

Ans: Úı˛›À ˛̊

37. The land form ‘Bajada’ is found in which
region?
Ans: Desert region

37. ëı±Ê±±í Ú±˜fl¬ ˆ”¬ø˜ı˛+¬ÛøÈ¬ Œfl¬±Ú ’=¡À˘ Œ‡ÀÓ¬
¬Û±›˚˛± ˚±˚˛∑
Ans: ˜è ’=¡À˘

38. The description of Samudragupta’s war
campaigns are found from which inscription or
‘Prashasti’?

38. ¸ ≈̃̂ &Àlı˛ ≈̊X¬ÊÀ˚˛ı˛ øııı˛Ìœ Œfl¬±Ú ë√õ∂˙øô¶∏í ŒÔÀfl¬
Ê±ÚÀÓ¬ ¬Û±ı˛± ˚±˚˛∑

39. Kushan Emperor Kanishka has been
transformed into Buddhism from whom?

Ans: Aswaghosh

39. fl≈¬¯∏±Ì ¸•⁄±È¬ fl¬øÌ©® fl¬±ı˛ fl¬±ÀÂ ŒıÃX¬ÒÀ˜« œé¬±˘±ˆ¬
fl¬Àı˛Ú∑

Ans: ’ù´À‚±¯∏

40. Sir Thomas Roe came to which Mughal
Emperor’s court?

Ans: Jahangir

40. ¸…±ı˛ È¬˜±¸ Œı˛± Œfl¬±Ú Œ˜±·˘ ¸•⁄±ÀÈ¬ı˛ ı˛±Ê¸ˆ¬±˚˛
’±À¸Ú∑

Ans: Ê±˝±ºœı˛

Ans: Correct option has not been given. 
          All will get marks even not attempted.

Ans: Correct option has not been given. 
          All will get marks even not attempted.
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41. Which British Governor introduced
‘Panchshala Bandobast’?
Ans: Warren Hastings

41. Œfl¬±Ú ˝◊—Àı˛Ê ·ˆ¬Ú«ı˛ ë¬Û“±‰¬¸±˘± ıÀj±ıô¶∏í √õ∂ıÓ«¬Ú
fl¬Àı˛Ú∑
Ans: ›˚˛±Àı˛Ú Œ˝øà¬—¸

42. Who is the author of ‘The Soul of  India’?
Ans: Bipin Chandra Pal

42. ëˆ¬±ı˛ÀÓ¬ı˛ ’±R±í (The Soul of India) ·ËLöøÈ¬ı˛
ı˛‰¬ø˚˛Ó¬± Œfl¬∑

Ans: øıø¬ÛÚ ‰¬f ¬Û±˘

43. Which of the following is not an example of
Living Fossil?
Ans: Sea-urchins

43. ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ ¤fl¬øÈ¬ ÊœıôL√ Êœı±Àù¨ı˛ Î¬◊±˝ı˛Ì Ú˚˛∑

Ans: ¸œ-’ø‰«¬Ú

44. What is the name of the outermost
membrane of Axon?
Ans: Neurolema

44. ’…±'ÀÚı˛ ¸ıÀÔÀfl¬ ı±˝◊Àı˛ı˛ ’±ıı˛ÌøÈ¬ı˛ Ú±˜ fl¬œ∑

Ans: øÚÎ¬◊Àı˛±À˘˜±

45. Which of the following is not an example of
non-flowering plant?

45. øÚÀ•ß±Mê Œfl¬±ÚøÈ¬ ¤fl¬øÈ¬ ’¬Û≈©Ûfl¬ Î¬◊øæÀı˛ Î¬◊±˝ı˛Ì
Ú ˛̊∑

Ans: Correct option has not been given.
         All will get marks even not attempted.

Ans: Correct option has not been given.
          All will get marks even not attempted.
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46. In which year Panchayati Raj has been
included in the Indian Constitution?

Ans: 1992

46. fl¬Ó¬ ¸±À˘ ˆ¬±ı˛Ó¬œ˚˛ ¸—øıÒ±ÀÚ ¬Û=¡±À˚˛Ó¬œ ı˛±ÊÀfl¬
’ôL√ˆ≈¬«Mê fl¬ı˛± ˝˚˛∑

Ans: 1992

47. By which constitutional amendment
fundamental duties have been incorporated into
Indian Constitution?
Ans: 42

47. fl¬Ó¬Ó¬˜ ¸—øıÒ±Ú ¸—À˙±ÒÀÚı˛ ˜±Ò…À˜ ˆ¬±ı˛Ó¬œ˚˛
¸—øıÒ±ÀÚ Œ˜Ãø˘fl¬ fl¬Ó«¬ı…&ø˘Àfl¬ ’ôL√ ≈̂¬«Mê fl¬ı˛± ˝˚˛∑

Ans: 42

48. From which of the following sectors, India
earns most of its foreign currency?
Ans: Spices

48. Œfl¬±Ú Œé¬SøÈ¬ ŒÔÀfl¬ ˆ¬±ı˛Ó¬ ¸ıÀÔÀfl¬ Œıø˙ ΔıÀø˙fl¬
≈̃̂ ± ’±˚˛ fl¬Àı˛∑

Ans: ˜˙˘±

49. India imports most of its crude oil from
which of the following countries?
Ans: Iraq

49. ˆ¬±ı˛Ó¬ı ∏̄« øÚ•ßø˘ø‡ÀÓ¬ı˛ ̃ ÀÒ… Œfl¬±Ú Œ˙ ŒÔÀfl¬ ̧ ı«±øÒfl¬
’¬Ûøı˛À˙±øÒÓ¬ ŒÓ¬˘ ’±˜±øÚ fl¬Àı˛∑

Ans: ˝◊ı˛±fl¬

50. Which is the capital of Meghalaya?
Ans: Shillong

50. Œ˜‚±˘À˚˛ı˛ ı˛±ÊÒ±Úœı˛ Ú±˜ fl¬œ∑

Ans: ø˙˘—
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51. The average price of 80 mobile phones is
Rs. 30,000. If the highest and lowest price mobile
phones are sold out, then the average price of
remaining 78 mobile phones is Rs. 29,500. The
cost of the highest mobile is Rs. 80,000. The cost
of lowest price mobile is

Ans: Rs. 19,000

51. 80øÈ¬ Œ˜±ı±˝◊˘ ŒÙ¬±ÀÚı˛ ·h¬ ±˜ 30,000 È¬±fl¬±/ ̊ ø
¸Àı«±B‰¬ › ̧ ı«øÚ•ß ±À˜ı˛ Œ˜±ı±˝◊˘ ≈øÈ¬ øıSê˚˛ ̋ À˚˛ ̊ ±˚˛, Ó¬Àı
ı±øfl¬ 78øÈ¬ Œ˜±ı±˝◊˘ ŒÙ¬±ÀÚı˛ ·h¬ ±˜ ˝˚˛ 29,500 È¬±fl¬±/
¸ıÀÔÀfl¬ ±ø˜ Œ˜±ı±˝◊˘ ŒÙ¬±ÚøÈ¬ı˛ ±˜ ̊ ø 80,000 È¬±fl¬± ̋ ˚˛,
Ó¬Àı ¸ıÀÔÀfl¬ fl¬˜ ±ø˜ Œ˜±ı±˝◊˘ ŒÙ¬±ÚøÈ¬ı˛ ±˜ fl¬Ó¬∑

Ans: 19,000 È¬±fl¬±

52. If difference between Compound Interest
and Simple Interest on a certain sum of money for
2 years @ 5% p.a. is Rs. 122. Find the sum of money

Ans: Rs. 48,800

52. ˚ø Œfl¬±ÀÚ± ¤fl¬øÈ¬ ’±˜±ÚÀÓ¬ı˛ 2 ıÂÀı˛ 5% ˝±Àı˛
‰¬Sêı‘øX¬ › ̧ ı˛˘ ̧ ≈Àı˛ ’ôL√ı˛ 122 È¬±fl¬± ̋ ˚˛, Ó¬Àı ’±˜±ÚÀÓ¬ı˛
¬Ûøı˛˜±Ì fl¬Ó¬∑

Ans: 48,800 È¬±fl¬±

53. Find the sum of first 30 natural numbers.

Ans: 465

53. √õ∂Ô˜ 30øÈ¬ ’‡G¬ ¸—‡…±ı˛ (Natural number)
Œ˚±·Ù¬˘ fl¬Ó¬∑

Ans: 465

54. 56% of Y is 182. What is the value of Y?

Ans: 325

54. Y-¤ı˛ 56% 182 ˝À˘, Y-¤ı˛ ˜±Ú fl¬Ó¬∑

Ans: 325

55. Which of the two ratios 17 : 18 and 10 : 11 is
greater ?

Ans: 17 : 18

55. 17:18 ¤ı— 10 : 11, ¤˝◊ ≈øÈ¬ ’Ú≈¬Û±ÀÓ¬ı˛ ˜ÀÒ…
Œfl¬±ÚøÈ¬ ı‘˝Mı˛∑

Ans: 17 : 18
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56. The driver of an ambulance sees a bus
moving in the same direction 40 meter ahead of
him. After 20 second, the bus is 60 meter behind.
If the speed of the ambulance is 30 km/hr, what is
the speed of the bus?

Ans: 12 km/hr

56. ¤fl¬øÈ¬ ’…±•§≈À˘k ‰¬±˘fl¬ ¤fl¬˝◊ øÀfl¬ ‰¬˘± ¤fl¬øÈ¬
ı±¸Àfl¬ Ó¬±ı˛ ̧ ±˜ÀÚ 40 ø˜È¬±ı˛ ”ı˛ÀQ Œ‡ÀÓ¬ ¬Û±˚˛/ 20 Œ¸Àfl¬`¬
¬ÛÀı˛ ı±¸øÈ¬ Ó¬±ı˛ ŒÔÀfl¬ 60 ø˜È¬±ı˛ ø¬ÛÂÀÚ ‰¬À˘ ˚±˚˛/ ˚ø
’…±•§≈À˘køÈ¬ı˛ ·øÓ¬Àı· 30 øfl¬ø˜ì‚∞È¬± ˝˚˛, Ó¬Àı ı±¸øÈ¬ı˛
·øÓ¬Àı· fl¬Ó¬∑

Ans: 12 øfl¬ø˜ì‚∞È¬±

57. Which is the least number that should be
added to 2055, so that the sum is exactly divisible
by 27?

Ans: 24

57. 2055-¤ı˛ ̧ Àº Œfl¬±Ú é≈¬^Ó¬˜ ̧ —‡…±øÈ¬ Œ˚±· fl¬ı˛À˘,
Œ˚±·Ù¬˘ 27 Z±ı˛± øÚ–À˙À¯∏ øıˆ¬±Ê… ˝Àı∑

Ans: 24

58. 10% discount and then 20% discount in
succession is equivalent to total discount of

Ans: 28%

58. Î¬◊¬Û ≈̊«¬Ûøı˛ 10% ¤ı— 20% Â±h¬ Œ˜±ÀÈ¬ı˛ Î¬◊¬Ûı˛ fl¬Ó¬
˙Ó¬±—˙ Â±h¬∑

Ans: 28%

59. In certain years a sum of money is doubled

itself at 
1

6 %
4

 simple interest per annum, then the

required time will be

Ans: 16 years

59. Œfl¬±ÀÚ± ¤fl¬øÈ¬ ’±˜±ÚÓ¬ Œfl¬±ÀÚ± ¤fl¬øÈ¬ øÚø«©Ü ¸˜À˚˛
1

6 %
4

 ̧ ı˛˘ ̧ ≈À øZ&Ì ̋ À˘, Î¬◊Mê øÚø«©Ü ̧ ˜˚˛øÈ¬ fl¬Ó¬ ̋ Àı∑

Ans: 16 ıÂı˛

60. 729  ø˜ø˘ ¤fl¬øÈ¬ ø˜|ÀÌ ≈Ò › ÊÀ˘ı˛ ’Ú≈¬Û±Ó¬  7:2/
’±ı˛› fl¬œ ¬Ûøı˛˜±Ì Ê˘ Œ˜˙±À˘ ÚÓ≈¬Ú ø˜|ÀÌ ≈Ò › ÊÀ˘ı˛
’Ú≈¬Û±Ó¬ 7:3 ˝Àı∑

Ans: 81 ø˜ø˘

60. 729 ml of a mixture contains milk and water
in the ratio 7 : 2. How much more water is to be
added to get a new mixture containing milk and
water in the ratio 7 : 3?

Ans: 81 ml
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61. ( )251 21 12 ? 158·13.− × ×− ÷ =  Find the

value of ‘?’.

Ans: 400

61. √õ∂ùüÀı±Òfl¬ ¶ö±ÀÚı˛ ˜±Ú øÚÌ«˚˛ fl¬èÚ –

( )251 21 12 ? 158·13.− × ×− ÷ =

Ans: 400

62. If the numerator of a fraction is increased

by 200% and the denominator of the fraction is

increased by 120%, the resultant fraction becomes
4

11
. What is the original fraction?

Ans:
4

15

62. Œfl¬±ÀÚ± ¤fl¬øÈ¬ ˆ¬¢ü±—À˙ı˛ ˘ıÀfl¬ 200% ¤ı— ˝ı˛Àfl¬

120% ı‘øX¬ fl¬ı˛À˘ ˆ¬¢ü±—˙øÈ¬ ˝˚˛ 
4

11
/ ˜”˘ ˆ¬¢ü±—˙øÈ¬ fl¬œ∑

Ans:
4

15

63. The profit after selling a shirt for Rs. 863 is
same as the loss incurred after selling the same
shirt for Rs. 631. What is the cost price of the shirt?

Ans: Rs. 747

63. √863 È¬±fl¬±˚˛ ¤fl¬øÈ¬ ˙±È«¬ øıøSê fl¬Àı˛ ˚Ó¬ ˘±ˆ¬ ˝˚˛,
631 È¬±fl¬±˚˛ øıøSê fl¬ı˛À˘ øÍ¬fl¬ Ó¬Ó¬ È¬±fl¬±˝◊ é¬øÓ¬ ˝˚˛/ ˙±È«¬øÈ¬ı˛
Sê˚˛˜”˘… fl¬Ó¬∑

Ans: 747 È¬±fl¬±

64. 3
4

th of 
2
9

th of 
1
5

th of a number is 249·6.

What is 50% of that number?

Ans: 3744

64. ¤fl¬øÈ¬ ̧ —‡…±ı˛ 
1
5

-¤ı˛ 
2
9

-¤ı˛ 
3
4

’—˙ 249·6 ̋ À˘,
¸—‡…±øÈ¬ı˛ 50% fl¬Ó¬∑

Ans: 3744

65. 3 148877 ?=

Ans: 53

65. 3 148877 ?=

Ans: 53



RB/SI_Sgt.(P)/21 ( 16 )

66. A can complete a piece of work in 12 days.
A and B together can complete the same piece of
work in 8 days. In how many days can B alone
complete the same piece of work?

Ans: 24 days

66. A ¤fl¬øÈ¬ fl¬±Ê 12 øÀÚ ̧ ˜±l fl¬Àı˛/ A ¤ı— B ¤fl¬ÀS
› ◊̋ ¤fl¬ ◊̋ fl¬±Ê 8 øÀÚ ̧ ˜±l fl¬Àı˛/ B ¤fl¬± fl¬Ó¬ øÀÚ fl¬±ÊøÈ¬
¸˜±l fl¬ı˛ÀÓ¬ ¬Û±ı˛Àı∑

Ans: 24 øÀÚ

67. The ratio of the length and the breadth of a
rectangular plot is 6 : 5. If the breadth of the plot is
34 meter less than the length, what is the perimeter
of the rectangular plot?

Ans: 748 m

67. ¤fl¬øÈ¬ ’±˚˛Ó¬Àé¬S±fl¬±ı˛ Êø˜ı˛ Δ‚«… › √õ∂À¶öı˛ ’Ú≈¬Û±Ó¬
6:5/ ̊ ø Êø˜øÈ¬ı˛ √õ∂¶ö ΔÀ‚«…ı˛ ŒÔÀfl¬ 34 ø˜È¬±ı˛ fl¬˜ ̋ ˚˛, Ó¬Àı
’±˚˛Ó¬fl¬±ı˛ Êø˜øÈ¬ı˛ ¬Ûøı˛¸œ˜± fl¬Ó¬∑

Ans: 748 ø˜È¬±ı˛

68. ( ) ( ) ( )2 2 212 14 16 ?⎡ ⎤× ÷ =⎢ ⎥⎣ ⎦
Ans: 110·25

68. ( ) ( ) ( )2 2 212 14 16 ?⎡ ⎤× ÷ =⎢ ⎥⎣ ⎦
Ans: 110·25

69. 14785 – 358 – 4158 – 9514 = ?

Ans: 755
69. 14785 – 358 – 4158 – 9514 = ?

Ans: 755

70. A train, 100 meter long, moving at a speed
of 50 km/hr crosses a train 120 meter long coming
from opposite direction in 6 second. The speed of
the second train is

Ans: 82 km/hr

70. 50 øfl¬ø˜ì‚∞È¬± ·øÓ¬Àı· ¸•Ûiß 100 ø˜È¬±ı˛ œ‚«
¤fl¬øÈ¬ ŒÈ¬™Ú øı¬Ûı˛œÓ¬ øfl¬ ŒÔÀfl¬ ’±¸± 120 ø˜È¬±ı˛ œ‚« ¤fl¬øÈ¬
ŒÈ¬™ÚÀfl¬ 6 Œ¸Àfl¬À`¬ ’øÓ¬Sê˜ fl¬Àı˛/ øZÓ¬œ˚˛ ŒÈ¬™ÚøÈ¬ı˛ ·øÓ¬Àı·
fl¬Ó¬∑

Ans: 82 øfl¬ø˜ì‚∞È¬±
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71. The smallest positive integer, which when
multiplied by 392 gives a perfect square, is –

Ans: 2

71. é≈¬^Ó¬˜ ÒÚ±Rfl¬ ¬Û”Ì«¸—‡…±øÈ¬ øÚÌ«˚˛ fl¬Àı˛±, ˚±Àfl¬
392 Z±ı˛± &Ì fl¬ı˛À˘ ¤fl¬øÈ¬ ¬Û”Ì«ı·« ¸—‡…± ˝˚˛ ñ

Ans: 2

72. If the diagonal of a square is doubled, then
how much time will be its area?
Ans: four times

72. ˚ø ¤fl¬øÈ¬ ı·«Àé¬ÀSı˛ fl¬Ì« øZ&Ì fl¬ı˛± ̋ ˚˛, Ó¬Àı Ó¬±ı˛
Œé¬SÙ¬˘ fl¬Ó¬ &Ì ˝Àı∑

Ans: ‰¬±ı˛&Ì

73. Divide 81 into three parts so that 
1
2

 of 1st,
1
3

 of 2nd and 
1
4

 of 3rd are equal.

Ans: 18, 27, 36

73. √81-Œfl¬ ¤˜Ú øÓ¬Úˆ¬±À· ˆ¬±· fl¬Àı˛± ˚±ÀÓ¬ √õ∂Ô˜

ˆ¬±À·ı˛ 
1
2

 ’—˙, øZÓ¬œ˚˛ ̂ ¬±À·ı˛ 
1
3

 ’—˙ ¤ı— Ó‘¬Ó¬œ˚˛ ̂ ¬±À·ı˛
1
4

 ’—˙ ¸˜±Ú ˝˚˛/

Ans: 18, 27, 36

74. 12 men construct 1·5 km of road in 7 days.
28 men will construct 12 km of roads in how many
days?

Ans: 24 days

74. 12 ÊÚ ı…øMê 1·5 øfl¬ø˜ ı˛±ô¶∏± 7 øÀÚ ΔÓ¬øı˛ fl¬ı˛ÀÓ¬
¬Û±Àı˛/ 28 ÊÚ ı…øMê 12 øfl¬ø˜ ı˛±ô¶∏± fl¬Ó¬ øÀÚ ΔÓ¬øı˛ fl¬ı˛Àı∑

Ans: 24 øÀÚ

75. Present ages of A and B are in the ratio 5 : 6.
After seven years this ratio becomes 6 : 7. Then the
present age of A in years is

Ans: 35

75. A ¤ı— B-¤ı˛ ıÓ«¬˜±Ú ı˚˛À¸ı˛ ’Ú≈¬Û±Ó¬ 5:6/
7 ıÂı˛ ¬Ûı˛ ¤˝◊ ’Ú≈¬Û±Ó¬øÈ¬ 6:7-¤ “±h¬±˚˛/ A-¤ı˛ ıÓ«¬˜±Ú
ı˚˛¸ fl¬Ó¬∑

Ans: 35 ıÂı˛
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76. Select the missing number from the given
responses:

Ans: 1097

76. ÚœÀ‰¬ı˛ ø‰¬SøÈ¬ÀÓ¬ õ∂ùüÀı±Òfl¬ ¶ö±ÀÚı˛ Î¬◊¬Û˚≈Mê ¸—‡…±øÈ¬
fl¬Ó¬∑

Ans: 1097

137 8

17

2

?

137 8

17

2

?

77. Select the missing number from the given
responses:

Ans: 18

77. ÚœÀ‰¬ı˛ ø‰¬SøÈ¬ÀÓ¬ õ∂ùüÀı±Òfl¬ ¶ö±ÀÚı˛ Î¬◊¬Û˚≈Mê ¸—‡…±øÈ¬
fl¬Ó¬∑

Ans: 18

14 12

36

7 3

9 11

54

16 ?

14 12

36

7 3

9 11

54

16 ?

78. Select the missing number from the given
responses:

Ans: 0

78. ÚœÀ‰¬ı˛ ø‰¬SøÈ¬ÀÓ¬ õ∂ùüÀı±Òfl¬ ¶ö±ÀÚı˛ Î¬◊¬Û˚≈Mê ¸—‡…±øÈ¬
fl¬Ó¬∑

Ans: 0

2 –1

–2 4

6 5

0 ?

3 2

4 24
2 –1

–2 4

6 5

0 ?

3 2

4 24
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80. From the given alternative words, select the
word which can not be formed using the letters of
the given word:

CUMBERSOME

Ans: MERCY

80. ÚœÀ‰¬ı˛ ̇ søÈ¬ı˛ ıÌ«&ø˘ øÚÀ˚˛ øÚ•ßø˘ø‡Ó¬ Œfl¬±Ú ̇ søÈ¬
ΔÓ¬øı˛ fl¬ı˛± ˚±Àı Ú±∑

CUMBERSOME

Ans: MERCY

81. Find the odd number pair.

Ans: 96 : 80

81. ’¸˜ ¸—‡…±ÀÊ±h¬øÈ¬ øÚÌ«˚˛ fl¬Àı˛±/

Ans: 96 : 80

83. If + = ×, – = ÷, × = +, ÷ = –, then which is
the correct equation out of the following?

Ans: 18 + 6 – 4 × 2 ÷ 3 = 26

83. ˚ø + = ×, – = ÷, × = +, ÷ = – ̋ ˚˛, Ó¬Àı øÚÀ•ß±Mê
Œfl¬±ÚøÈ¬ ¤fl¬øÈ¬ ¸øÍ¬fl¬ ¸˜œfl¬ı˛Ì∑

Ans: 18 + 6 – 4 × 2 ÷ 3 = 26

79. Haematology : Blood : : Phycology : ?

Ans: Algae

79. Haematology : Blood : : Phycology : ?

Ans: Algae

82. Identify the diagram that best represents
the relationship among the classes given below:

Animals, Land animals, Sea animals

Ans:

82.  Œfl¬±Ú ø‰¬SøÈ¬ı˛ Z±ı˛± ÚœÀ‰¬ı˛ Œ|øÌı˛ ˙s&ø˘ı˛
¬Û±ı˛¶Ûøı˛fl¬ ¸•Ûfl«¬ ¸ı«±À¬Ûé¬± Î¬◊»fl‘¬©Üı˛+À¬Û ıÌ«Ú± fl¬ı˛± ˚±˚˛∑

¬Ûq, ¶öÀ˘ øı‰¬ı˛Ìfl¬±ı˛œ ¬Ûq, ÊÀ˘ øı‰¬ı˛Ìfl¬±ı˛œ ¬Ûq

Ans:
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84. Seven persons A, B, C, D, E, F and G are
standing in a straight line.

D is to the right of G.

C is between A and B.

E is between F and D.

There are three persons between G and B.

84. ¸±Ó¬ÊÚ ı…øMê A, B, C, D, E, F ¤ı— G ¤fl¬øÈ¬
¸ı˛˘Àı˛‡±˚˛ “±øh¬À˚˛ ’±ÀÂ/

D, G-¤ı˛ Î¬±ÚøÀfl¬ ’±ÀÂ/

C, A ¤ı— B-ı˛ ˜±Á¬‡±ÀÚ ’±ÀÂ/

E, F ¤ı— D-ı˛ ˜±Á¬‡±ÀÚ ’±ÀÂ/

G ¤ı— B-ı˛ ˜±Á¬‡±ÀÚ øÓ¬ÚÊÚ ı…øMê ’±ÀÂ/

¤fl¬˜ ı“±øÀfl¬ Œfl¬ “±øh¬À˚˛ ’±ÀÂ∑

85. Sunita rode her scooty northwards, then
turned left and moved some distance and then
again rode to her left 4 km. She found herself
exactly 2 kms West of her starting point. How far
did she ride northwards initially?

Ans: 4 km

85. ¸≈ÚœÓ¬± Ó¬±ı˛ ¶≥®øÈ¬øÈ¬ øÚÀ˚˛ Î¬◊Mı˛øÀfl¬ ‰¬˘± qè fl¬ı˛˘/
¤ı˛¬Ûı˛ Œ¸ ı±˜øÀfl¬ ‚≈ı˛˘ › øfl¬Â≈”ı˛ Œ·˘/ ¤ı˛¬Ûı˛ ’±ı±ı˛
ı±˜øÀfl¬ ‚≈Àı˛ Œ¸ 4 øfl¬ø˜ ¬ÛÔ Œ·˘/ ıÓ«¬˜±ÀÚ Œ¸ Ó¬±ı˛ qèı˛
¶ö±Ú ŒÔÀfl¬ øÍ¬fl¬ 2 øfl¬ø˜ ¬Ûø}¬À˜ ’ı¶ö±Ú fl¬ı˛À˘, Œ¸ qèÀÓ¬
Î¬◊Mı˛øÀfl¬ fl¬Ó¬ ”ı˛Q ø·À˚˛øÂ˘∑

Ans: 4 øfl¬ø˜

86. In a certain code 253 means ‘books are old’,
546 means ‘man is old’ and 378 means ‘buy good
books’. What stands for ‘are’ in that code?

Ans: 2

86. ¤fl¬øÈ¬ ¸±—Àfl¬øÓ¬fl¬ ø˘ø¬ÛÀÓ¬ 253 ˜±ÀÚ ëbooks are
oldí, 546  ̃ ±ÀÚ ëman is oldí ¤ı— 378 ̃ ±ÀÚ ëbuy good
booksí ˝À˘ ëareí-¤ı˛ ¸—Àfl¬Ó¬ fl¬œ ˝Àı∑

Ans: 2

Ans: Correct option has not been given.
          All will get marks even not attempted.

Who is on the extreme left?

Ans: Correct option has not been given.

          All will get marks even not attempted.
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87. The figure given on the left hand side is
folded to form a box. Which boxes can be formed
from the options (1), (2), (3) and (4)?

(1) (2) (3) (4)

Ans: 1, 3 and 4 only

87. ı“±øÀfl¬ Œ˚ ø‰¬SøÈ¬ Œ›˚˛± ’±ÀÂ, Ó¬±Àfl¬ ˆ“¬±Ê fl¬Àı˛
¤fl¬øÈ¬ ı±' ΔÓ¬øı˛ fl¬ı˛± ̊ ±˚˛/ (1), (2), (3) ¤ı— (4)-¤ı˛ ̃ ÀÒ…
Œfl¬±Ú Œfl¬±Ú ı±' ΔÓ¬øı˛ ˝›˚˛± ¸y¬ı∑

(1) (2) (3) (4)

Ans: 1, 3 ¤ı— 4

88. If a mirror is placed on the line MN then
which of the answer figures is the right image of the
given figure?

Question Figure:

Answer Figures:

Ans:

88. ˚ø MN Œı˛‡± ıı˛±ıı˛ ¤fl¬øÈ¬ ’±˚˛Ú± Òı˛± ˝˚˛, Ó¬Àı
ı±˜øÀfl¬ ’øÇ¬Ó¬ ø‰¬ÀSı˛ ¸øÍ¬fl¬ õ∂øÓ¬øı•§ Œfl¬±ÚøÈ¬ ˝Àı∑

õ∂ùü¸”‰¬fl¬ ø‰¬S –

¸y¬±ı… Î¬◊Mı˛¸”‰¬fl¬ ø‰¬S±ıø˘ –

Ans:

M

N

M

N
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90. In a certain code ‘MOUSE’ is written as
‘PRUQC’. How is ‘SHIFT’ written in that code?

Ans: VKIDR

90. ¤fl¬øÈ¬ ¸±—Àfl¬øÓ¬fl¬ ø˘ø¬ÛÀÓ¬ ëMOUSEí ˝˘
ëPRUQCí/ ëSHIFTí-¤ı˛ ¸—Àfl¬Ó¬ fl¬œ ˝Àı∑

Ans: VKIDR

89. A piece of paper is folded and cut as shown
below in the question figure. From the given answer
figures, indicate how it will appear when opened?

Question Figure:

Answer Figures:

Ans:

89. ¤fl¬øÈ¬ fl¬±·ÀÊı˛ ‡G¬Àfl¬ ̂ ¬“±Ê fl¬Àı˛ fl¬±È¬± ̋ ˘ Œ˚˜Úˆ¬±Àı
Œ‡±ÀÚ± ˝À˚˛ÀÂ ÚœÀ‰¬ı˛ õ∂ùü¸”‰¬fl¬ ø‰¬SøÈ¬ÀÓ¬/ ÚœÀ‰¬ı˛ ‰¬±ı˛øÈ¬
ø‰¬ÀSı˛ ̃ ÀÒ… Œfl¬±ÚøÈ¬ ¬Û±›˚˛± ̊ ±Àı ̊ ‡Ú fl¬±·Ê ‡G¬øÈ¬Àfl¬ ’±ı±ı˛
Œ‡±˘± ˝Àı∑

õ∂ùü¸”‰¬fl¬ ø‰¬S –

¸y¬±ı… Î¬◊Mı˛¸”‰¬fl¬ ø‰¬S±ıø˘ –

Ans:
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91. How many triangles are there in the figure?

Ans: 28

91. ÚœÀ‰¬ı˛ ø‰¬SøÈ¬ÀÓ¬ fl¬Ó¬&ø˘ øSˆ≈¬Ê ’±ÀÂ∑

Ans: 28

92. Pointing towards Rita, Nikhil said, “I am
the only son of her mother’s son”. How is Rita
related to Nikhil?

Ans: Aunt

92. ı˛œÓ¬±ı˛ øÀfl¬ Œø‡À˚˛ øÚø‡˘ ı˘˘, ëë’±ø˜ ›ı˛ ̃ ±À˚˛ı˛
ŒÂÀ˘ı˛ ¤fl¬˜±S ŒÂÀ˘íí/ ı˛œÓ¬± øÚø‡À˘ı˛ Œfl¬ ˝˚˛∑

Ans: ø¬Ûø¸˜±

93. Which number is in all the geometrical
figures?

Ans: 4

93. øÚÀ•ß±Mê Ê…±ø˜øÓ¬fl¬ ø‰¬ÀSı˛ ̃ ÀÒ… Œfl¬±Ú ̧ —‡…±øÈ¬ ̧ ıfl¬øÈ¬
ø‰¬ÀS ◊̋ ’±ÀÂ∑

Ans: 4

1

6 5 4 2

7

8

3

1

6 5 4 2

7

8

3

94. If order of the English alphabet is reversed
starting from Z to A, which will be the eighth letter
to the right of ‘O’?

Ans: G

94. ˚ø ◊̋—ı˛±øÊ ıÌ«̃ ±˘±Àfl¬ Z ŒÔÀfl¬ A ¤ ◊̋ SêÀ˜
øı¬Ûı˛œÓ¬ˆ¬±Àı Œ˘‡± ˝˚˛, Ó¬Àı ëOí-¤ı˛ Î¬±ÚøÀfl¬ ’©Ü˜ ¶ö±ÀÚ
Œfl¬±Ú ıÌ« Ô±fl¬Àı∑

Ans: G
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96. A statement is given followed by some
conclusions. Choose the conclusion which logically
follows from the given statement.

Statement: Most dresses in that shop are expensive.
Conclusions:

Ans: There are cheap dresses also in that shop.

96. ÚœÀ‰¬ ¤fl¬øÈ¬ ı±fl¬… › øfl¬Â≈ ø¸X¬±ôL Œ›˚˛± ’±ÀÂ/
ı±fl¬…øÈ¬ı˛ Î¬◊¬Ûı˛ øÚˆ«¬ı˛ fl¬Àı˛ Œfl¬±Ú ˚≈øMê¸•úÓ¬ ø¸X¬±ôLøÈ¬ ¢∂˝Ì
fl¬ı˛± ˚±˚˛∑

ı±fl¬… – Œ±fl¬±ÚøÈ¬ı˛ Œıø˙ı˛ˆ¬±· Œ¬Û±˙±fl¬˝◊ ±ø˜/

ø¸X¬±ôL  –

Ans: Œ±fl¬±ÀÚ ¸ô¶± Œ¬Û±˙±fl¬› ¬Û±›˚˛± ˚±˚˛/

97. There are three statements followed by three
conclusions. Which of the conclusions logically
follows from the given statements?
Statements: All dolls are windows. All bottles are
windows. All cars are bottles.
Conclusions:

I. All cars are windows.
II. Some cars are dolls.

III. Some windows are cars.

Ans: Only I and III follow.

97. ÚœÀ‰¬ øÓ¬ÚøÈ¬ ı±fl¬… › øÓ¬ÚøÈ¬ ø¸X¬±ôL Œ›˚˛± ’±ÀÂ/
Œfl¬±ÚøÈ¬ìŒfl¬±Ú ø¸X¬±ôL&ø˘ ı±fl¬…&ø˘ı˛ ¸±À¬ÛÀé¬ ¢∂˝Ì fl¬ı˛±
˚± ˛̊∑

ı±fl¬… – ¸˜ô¶ ¬Û≈Ó≈¬˘˝◊ Ê±Ú±˘±/ ¸ı Œı±Ó¬˘˝◊ Ê±Ú±˘±/ ¸˜ô¶
·±øh¬ ◊̋ Œı±Ó¬˘/

ø¸X¬±ôL  –
I. ¸˜ô¶ ·±øh¬ ◊̋ Ê±Ú±˘±/

II. øfl¬Â≈ ·±øh¬ ¬Û≈Ó≈¬˘›/
III. øfl¬Â≈ Ê±Ú±˘± ·±øh¬›/

Ans: qÒ≈̃ ±S I ¤ı— III ¢∂˝Ì fl¬ı˛± ˚±˚˛/

95. Select a figure from amongst the answer
figures which will continue the same series as
established by the five problem figures.
Problem figures:

Answer Figures:

Ans:

95. ¸y¬±ı… Î¬◊MÀı˛ ‰¬±ı˛øÈ¬ ø‰¬S Œ›˚˛± ’±ÀÂ/ ̧ øÍ¬fl¬ ø‰¬SøÈ¬
‰¬˚˛Ú fl¬èÚ Œ˚øÈ¬ õ∂Àùü Œ›˚˛± ¬Û“±‰¬øÈ¬ ø‰¬ÀSı˛ ¸±ı˛Ìœı˛ ¬Ûı˛ıÓ¬π
ø‰¬Sı˛+À¬Û ˜ÀÚ±ÚœÓ¬ fl¬ı˛± ˚±Àı/

õ∂ùü¸”‰¬fl¬ ø‰¬S±ıø˘ –

¸y¬±ı… Î¬◊Mı˛¸”‰¬fl¬ ø‰¬S±ıø˘ –

Ans:
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98. You come to know that your boss is writing
a false report to the highest authority. What would
you do?

Ans: Meet your boss and directly protest against
his actions.

98. ˚ø Ó≈¬ø˜ Ê±ÚÀÓ¬ ¬Û±Àı˛± Œ˚ ŒÓ¬±˜±ı˛ ÿÒT«Ó¬Ú fl¬Ó‘¬«¬Ûé¬
Î¬◊B‰¬Ó¬ı˛ fl¬Ó‘«¬¬Ûé¬Àfl¬ ¤fl¬øÈ¬ ø˜Ô…± øı˛À¬Û±È«¬ øÀBÂÚ, Ó≈¬ø˜ fl¬œ
fl¬ı˛Àı∑

Ans: ÿÒT«Ó¬Ú ı…øMêı˛ ¸Àº Œ‡± fl¬Àı˛ ¸ı˛±¸øı˛ Ó¬±“ı˛
fl¬±ÀÊı˛ õ∂øÓ¬ı± fl¬ı˛Àı/

99. What will come in place of the ‘?’ mark?

Ans: 5

99. õ∂ùüÀı±Òfl¬ ï∑ó ¶ö±ÀÚ fl¬œ¬ ’±¸Àı∑

Ans: 5
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100. If A + B = C + D and A + D > B + C, then
which of the following is definitely wrong?

Ans: B > D

100. ˚ø A + B = C + D ¤ı— A + D > B + C ˝ ˛̊,
Ó¬Àı ÚœÀ‰¬ı˛ Œfl¬±ÚøÈ¬ øÚø}¬Ó¬ˆ¬±Àı ˆ≈¬˘∑

Ans: B > D


